HeHE A

[Participant ID

Participant Name

Test Center Name

Test Date 27/02/2021

Test Time 10:30 AM - 12:00 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

Y o7 a2/ RAILWAY RECRUITMENT BOARDS
H € U ot/2008 - w & O - CEN01/2019- NTRC

2. Chosen option on the right of the question indicates the option selected by the candidate.

e T &2

HYA:
welr wfora gz &
X g &l

Cia

Il X v @t &1

II: Tefr gex er wsfer E

e X1 Faer forswd || et waT §
v arfaeey | k& Ty || aed war
X 3 Fae Trwy | aTele LT §
X 4 2t ey g a8

Q1 & Rw o FeEt 3 fsest & caeEs 98 @R s B #la @ T aifde w9 @ et a7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117081
94891128322
94891128323
94891128321
94891128324
Answered

4




Q2 77 2019 # 5= ¥ W FET AW Red W Rwwsa FE F geEe EEw & F F w9
$10,000 T FHT FAT T AT?

Ans X 1. ST ST (Roger Federer)
v 2 BT BfeTEE (Serena Williams)
X 3. FATHEFT @R (Naomi Osaka)
X 4 TeT AsTer (Rafael Nadal)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489117310

94891129240
94891129238
94891129239
94891129237
Not Answered

¥ rafefa # @ 7 @ wAvw Sifhw gge W e 6 32

Ans

X 1. graT giEe
v 2 gy
X g8
X 4 TFEd
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117335
94891129338
94891129340
94891129339
94891129337
Answered

2




Q4

IRDAI T qoT & T §7?

Ans x 1.
IR U3 To S9oidT YN 3T EfFaT (Irrigation and Rural Development Authority of India)
v
F2TH WEed U 39eHT TS HTE ST (Insurance Regulatory and Development Authority of
India)
Xs
$AE FEEE U8 STeAcH 3RIET 3% 83T (Insurance Regulation and Developmental Authority
of India)
X 4
ST RerE Sgorade 3 3w $f@ar (International Relations Development Authority of India)
Question ID : 9489117337
Option 1 ID : 94891129345
Option 2 ID : 94891129347
Option 3 ID : 94891129346
Option 4 ID : 94891129348
Status : Answered
Chosen Option : 2
Q.5 = faw =rv Reredt & 9 weg BT aw §, B @ S us= G RE @ w99 sk v s B
HEIT e FH TTA HL
Ans X1 11KP
X2 13MN
V'3 9IH
< 4 3CX
Question ID : 9489117088
Option 1 1D : 94891128352
Option 2 ID : 94891128350
Option 3 1D : 94891128351
Option 4 ID : 94891128349
Status : Answered
Chosen Option : 3
Q6 forw & 3 wigeTHt & FET (FIFA) Pealer 9T F0, 2019 ¥ Roiar &1 aw gifter fmam
Ans .
X 1. wshets
<2 =g
XK 3 AT
« 4. =,
Question ID : 9489117311
Option 1 1D : 94891129244
Option 2 ID : 94891129242
Option 3 1D : 94891129241
Option 4 ID : 94891129243
Status : Not Answered

Chosen Option :




Q.7 3ea A B 3R C Fawn: S, F AR At F geie §1 s gor @Ear FAw 50, 60 T 40

&1 o st & T G E S s R o A E g e w8 E

@

C
Ans X175
X 2 40
X35
v 4 15
Question ID : 9489117098
Option 11D : 94891128392
Option 2 ID : 94891128391
Option 3 ID : 94891128389
Option 4 ID : 94891128390
Status : Answered
Chosen Option : 4
Q8 AsrBrrarRgXx e mimwaad M Bgy HF I § X 3R Y & &7 £ gfr 60
km E1 A @ =mel, B ¥ 4 km/h F7 B Ytrfqga;‘r#aﬁ, B, Y@ amow sitear £ 3w ¥ & 12 km #r
Zh W foud v fig WA & T &1 A 7 9 AT e
Ans X116 km/h
/< 2 20 km/h
'3 8 km/h
< 4 12 km/h
Question ID : 9489116763
Option 1 1D : 94891127050
Option 2 ID : 94891127049
Option 3 ID : 94891127052
Option 4 ID : 94891127051
Status : Answered

Chosen Option :

1




Y hEE wtF T F g F=iT 42

X1 mETeAT e
v o g T 9

X3 e =g e
X4 g I S
Question ID : 9489117332
Option 1 ID : 94891129327
Option 2 ID : 94891129325
Option 3 ID : 94891129328
Option 4 ID : 94891129326
Status : Answered
Chosen Option : 2
10 + + . .
Q10 Sror syRE & TEe TSCIATEY FIAFIT HETTT FT 3RS Q?rgam
Ans « 1
LI
< 2. AgHI=g
X 3 dfferETg
X 4 gaTe
Question ID : 9489117323
Option 1 1D : 94891129289
Option 2 1D : 94891129291
Option 3 ID : 94891129290
Option 4 ID : 94891129292
Status : Not Answered
Chosen Option : =
11 .
WM gfr sin2A=cos75° ¥, @Y A F TUAGH UCHF A A ST
Ans x 1. 150
V2 75°
X3 75
< 4 30°
Question ID : 9489116768
Option 1 1D : 94891127069
Option 2 ID : 94891127070
Option 3 1D : 94891127071
Option 4 1D : 94891127072
Status : Answered
Chosen Option : 4




12 8 17 det @ 52, Bee 3k A5 & B voR S S

Ans

v 8 we,
X2 8 e,
X3 8 e,
X 4 8 e,

10 e, 12 B==

17 fF=e
12 A=

10 e, 7 &%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117095
94891128377
94891128378
94891128380
94891128379
Answered

4

Q8 o s R eI R iR Im TR Em a2 @ Efgw

Ans

ThS 1 g e 3 A Rae foF F 9 R mear €2

v 84
<228
<376
<478

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116762
94891127046
94891127045
94891127047
94891127048
Answered

1

Q14 A 353 v FE F 12 RE & 0 5T TR §, TG B wF W FE #1565 B F 9 W g §
CH Agg @, 9 30 &1 &1 5 G # T &7 ¥t g1 TG 38 W &0 & AT 22,880 &7 sl fomaw

Ans

Fer 8@ 3§ C F RREar Reer g

v 1. 3720
< 2 2700
<3 2760
< 4.27740

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116761
94891127042
94891127041
94891127044
94891127043
Answered

1




o = wrER f vEE AT Y W SRE P
Ans X 1. TEF FIET W

X 2 gt & TFm W

X 3 9RT & J9rad 997 W

v 4 Fre TEr % B T

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 9489117306

: 94891129224
: 94891129222
: 94891129223
: 94891129221
: Not Answered
Chosen Option :

Q16 & fRw w1v Feet AR Fewst @ eamTEE 1 3k T B wiE @ fPewd afew w1 @ st w5

T F &7

HYU:

X &Y & Fer A0 5 H3 FX F gEae AT Al o S0, FilH AT G FR TAS A T

g # AET gl

foes:

I. X HeoT oY 32T 9ITa9T Hiel T Suet|
I X Franfza &1

. Yy s &

IV. X &R =eler e &l

A 1 e sy |, 11 3R IV e R E
X 2 Faa Ty | 3R 1 9o w1
X 3 raer sy 11, 11l 3R IV Tee = F
X 4 Faa Ty 1l 3k IV 9es =1 T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117082

94891128326
94891128325
94891128327
94891128328
Not Answered




OV zar & Aty $r e fraer @ 37
Ans X 1. 383 misec

v 2 343 m/sec

< 3. 373 misec

< 4 434 misec

Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

9489117324
94891129293

: 94891129296
: 94891129294
: 94891129295

Not Answered

Q18 g srer g RrER TEAEA, 2019 F ARIST T TS F BT T ar

ws g ey
X 2 geTmeTg
Ko HES
X 4. FreTeRrar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489117305

94891129220
94891129219
94891129218
94891129217
Not Answered

Chosen Option : =




Q19 =y R v s #F weAEEE e (7) ¥ WE W #iF @ §Er HeEh?

Ans x 1.6
<25
<38
v 4
Question ID : 9489117099
Option 1 1D : 94891128395
Option 2 ID : 94891128396
Option 3 ID : 94891128393
Option 4 1D : 94891128394
Status : Answered
Chosen Option : 4
Q20 segar 2020 9% ATF AFFA F HAR, Brrefaer 6T (Kristalina Georgieva) 3 ¥ Rreehr wey
FEes o
Ans : ) :
« 1. FFFT T (United Nations)
X 2 fyeg &% (World Bank)
v 3 HIUSET el FIY (International Monetary Fund)
X 4 7g 3FeqHC §% (New Development Bank)
Question ID : 9489117342
Option 1 1D : 94891129365
Option 2 ID : 94891129366
Option 3 ID : 94891129367
Option 4 1D : 94891129368
Status : Answered
Chosen Option : 3




2 yma B 9 #F S 20 PrET TEET S AT FET?

Ans X1 2025
< 2 2027
V'3 2023
X 4. 2022
Question ID : 9489117309
Option 11D : 94891129235
Option 2 ID : 94891129236
Option 3 1D : 94891129234
Option 4 1D : 94891129233
Status : Answered
Chosen Option: 3
Q22 =200 Fr Ufr F 10% T TFafy oo 1 @ W 2 9 F {Bw @ fw ) of = fr e
20% @, & T e & Teww o e sfafes s o g
Ans X 1. 344
<2340
< 3. 348
v 4 346
Question ID : 9489116755
Option 11D : 94891127018
Option 2 1D : 94891127017
Option 3 1D : 94891127020
Option 4 1D : 94891127019
Status : Answered
Chosen Option : 4
Q.23 7 v fAftsa gl o 5% T = F X & 3 I FT TRy s 3783 ¥, A wEw ey
R FHE & W TA 3D FT GReT &= A9 Hifaw|
Ans X1.23,680
X 2 23,440
< 3 23,400
4 23,600
Question ID : 9489116758
Option 11D : 94891127030
Option 2 ID : 94891127032
Option 3 1D : 94891127031
Option 4 1D : 94891127029
Status : Answered

Chosen Option : 4




Q2 = ¥ FIF T TEUA RS F THAE & WA S 3eRaT0r F e TR

e K grsd TEf@TeE 3T SR
X 2 TG WgF GI&T FIferhIor

v 3 T T TSATT ISR

X 4 ATaTd aiiggs ITeeRgoT

Question ID : 9489117339
Option 1 1D : 94891129354
Option 2 ID : 94891129355
Option 3 ID : 94891129356
Option 4 1D : 94891129353
Status : Answered
Chosen Option : 3
.25 N 2
OB = & Y TR STH F ooE F T F e I 2
e X3 X arEeEe
V2§ EIHE
X 3. ATSASh rq&EH
X4 JFEg e
Question ID : 9489117333
Option 1 ID : 94891129329
Option 2 ID : 94891129330
Option 3 1D : 94891129331
Option 4 ID : 94891129332
Status : Answered
Chosen Option : 3
Q.26 mza 2020 5% 9F ASHELT F FFAR, A o4fr o =H & FF drvE F gEw vy s §
Ans ) +
& 1. 3TTer (OIL) sfEar
X 2 fegrae e
& 3. 99T (GAIL) sfEar
v 4 FHeASTEr (ONGC)
Question ID : 9489117328
Option 1 1D : 94891129312
Option 2 1D : 94891129311
Option 3 ID : 94891129309
Option 4 1D : 94891129310
Status : Not Answered

Chosen Option : —




Q.27 ofy #=r v o gHEoT F REat 4+ sl - T et 9 3 6 & amaw & wew Rw o, &

frrfafeE 97 Tl # & ST @1 FHEOT Sgfod g Sem?
Ans X 1.6-9+ 4 =1

X26-9+7=1

V39+6-4=1

K44-9+5=1
Question ID : 9489117083
Option 1 ID : 94891128332
Option 2 ID : 94891128330
Option 3 1D : 94891128331
Option 4 1D : 94891128329

Status : Answered
Chosen Option : 3
Q.28 & & =l AN FUA W TEES T AR TG0 B Fud & @9 A S @ e @l 87
T FIE YR WUROT SO O 3uR & S R, anr
FYUA :
1.3 =arst # aX 16% &, aF T 6 ¥ F e g Jedr Bl
2. 7fE = #r a7 18% &, T 5 I F R & I 7
Ans -

X . FIFT FUST 2 TEr B

X 2 Fug 1 3T 2 34T & 7@ g

X 3 Faer wUT 1 TEr B

v i w1 3k 2 gt & e E
Question ID : 9489116759
Option 1 1D : 94891127034
Option 2 ID : 94891127035
Option 3 ID : 94891127033
Option 4 1D : 94891127036

Status : Answered
Chosen Option : 2




Q29 drr e wv wuwt 3R Trwst @ emEs 9@ R gAC B ST @ Tewd @it 59 & Huat @
9T T 87

heed:
A e Fr weft wsfrar wiememe &)
sffer & =% wfoew 7 7
oy | : sTier oF wem & TR F @ A R
= 11 e = 7 7 7 ofter ffag s ofew

At X T ar sy | 3k 7 & sy Il 9o e &
v 2 Faer THY | I AT §
X 3 Fae oy || 9o T ¥
X 4 2t & ey ured g ¥

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117075
94891128299
94891128297
94891128298
94891128300
Answered

2

Q.30 ng#rﬁww,mﬁmrnﬂa:% T & e AR 58 0% Afhd iU o 8% RS e W
FEIT| e ST AT HiAT]

Ans - X1 16%
v 2 20%
<3 14%
<4 10%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116757
94891127027
94891127028
94891127026
94891127025
Answered

2




Q.31

e GIET & 819 H AT A AT =AIST I47 Uah 41 HTATH 4T §7
s XK. e B 39ereyar

< 2 FEg=ATar

<2 gag et

v o R

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117343

94891129369
94891129370
94891129372
94891129371
Not Answered

as2 > 3k 2 % egomar & AT # goEA g @ fhEs aOR §?

Ans

F 0

v &)

35

88
45

88
88

35
88

45

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116744
94891126974
94891126975
94891126973
94891126976
Answered

2




Q.33 3w fawed & 9Ua ®Y, A BT v en-wag & 9= o gey § S e 3w & aen-weg
F 9= gl

AFKP : ZUPK

Ans X 1. CHMR : WRMH
v 2 BGLQ : YTOJ
/< 3 EJOT : VWXY
< 4 DINS : XSNI

Question ID : 9489117074
Option 11D : 94891128293
Option 2 ID : 94891128294
Option 3 ID : 94891128296
Option 4 1D : 94891128295
Status : Answered
Chosen Option : 2

Q34 gfr s pal & Peg e £, 3 (3 —8b9): (a2 +4b2)=2:1 ¥ T a:b FT AT AT

FfaT

Ans o140 1
X25:4
K31:4
K44:5

Question ID : 9489116760
Option 11D : 94891127037
Option 2 ID : 94891127040
Option 3 ID : 94891127039
Option 4 1D : 94891127038
Status : Answered
Chosen Option : 1

Q35 Rumfafae & & e ate st sl e & i & Rl & T R §2
A X1 g2 (Indocyanine)

X 2 AraEfaa (Merocyanine)

v 3 Tatasf@d (Anthocyanins)

X 4 graEE=a (Hemocyanine)

Question ID : 9489117321

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

94891129282
94891129283
94891129284
94891129281
Not Answered

Chosen Option : —




0% Fegez e F Mb frfafEE & & e g w9 §7

Ans

K 1. AEIEE (Masterboot)

v 2 AT (Megabit)
X 3 FemEEe (Megaboast)
X 4 FeTETSe (Megabyte)

Question ID : 9489117334
Option 1 ID : 94891129335
Option 2 ID : 94891129334
Option 3 ID : 94891129336
Option 4 1D : 94891129333
Status : Answered
Chosen Option : 4
Q.37 e FHAg R 1 Telw o= w1 AT 33l fe F S wa S
Ans X1 5 em
<24 cm
v3 45 cm
<455 cm
Question ID : 9489116764
Option 1 ID : 94891127055
Option 2 ID : 94891127053
Option 3 ID : 94891127054
Option 4 ID : 94891127056
Status : Answered
Chosen Option : 3
0% gfE A+B=45% T (1+tanA)(1 +tanB) F AW AT AT
ane X1 3
<21
Vs 2
<44
Question ID : 9489116772
Option 11D : 94891127087
Option 2 ID : 94891127085
Option 3 ID : 94891127086
Option 4 ID : 94891127088
Status : Answered
Chosen Option : 3




Q.39

36—2(20+12+4%x3—-2%x2)+10 & 77 770 HifT)

ans X133
v 4
<33
X4
Question ID : 9489116748
Option 1 ID : 94891126992
Option 2 ID : 94891126989
Option 3 1D : 94891126991
Option 4 ID : 94891126990
Status : Answered
Chosen Option : 2
Q.40 .
faeg B oo ooy g B Fr gam smar 22
e K110 REeR
<210 A=
X310 3%
v 4 10 FAI
Question ID : 9489117308
Option 1 1D : 94891129232
Option 2 ID : 94891129230
Option 3 1D : 94891129231
Option 4 ID : 94891129229
Status : Answered
Chosen Option : 4
a4 rarTT ¥ T geat &
YRRl H2 CICEEED dlH ddis|
Ans ]
V. FEA SIEAHTFASE, T HRT TG F T
X 2 9y, HTerdrere 3 gF @ Seer
X 3 T T FRT, FARIFAFEr AT I
(3.9
X 4 AT, 9T 3T geeTer
Question ID : 9489117312
Option 1 1D : 94891129248
Option 2 ID : 94891129245
Option 3 ID : 94891129246
Option 4 ID : 94891129247
Status : Answered

Chosen Option: 1




Q42 o= fisgsr ABC #, 4B = 90°, «C = 45° ¢ 3 D, AC & #ew g #1 afy AC = 4VZ % & & BD

F AT AT HfST

Ans X1 3V2 sarE
X2 42 THIT
V'3 22 sETS
X4 \2 s

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489116769
94891127074
94891127073
94891127075
94891127076
Answered

2

Q43 g1 o8 ety iy et Y eTgEE OF AT TEC B Fu & g F B A e w2

T BT goa S =1 (), S5 (A) i 9RfE (C) &,

HUA
1.A:C2=1:4n

v Fua 1 3T 2 4T & 7T 2
X 2 FFT FUT 1 TT B
X3 Fua 1 3R 2 =T 3\ g

X 4 T FUT 2 T £

Ans

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116767
94891127067
94891127065
94891127068
94891127066
Answered

1




Q.44 zfz A 3T C &7 =T 39E & Fea Bar oar £, B 3N D & v e & se Ram s §) E 3k
G =1 T 39E # Seo &I Sar & 3T SutATer & arhr aenRt & e of o & far sar §, & O

Ans

F aIE Y 5aT e HiA ;@ FEn?

Ko

K2
X3
v

-

'R
'H
F

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

9489117103

1 94891128411
194891128412
1 94891128410
1 94891128409
Answered

1

Q45 soad @ P @ gl Tserw & wpwe! 3T TEE AaT F REAROT # seated w22

A X1 emRiEES (Thyroxine)
v 2 sfeFEfae (Oxytocin)
X 3 wdreT (ADH)

X 4 9IAEF (Progesterone)

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117313
94891129250
94891129249
94891129252
94891129251
Answered

3

Q46 Trfafed & € Fim @ faftes Usel ganr 3o sdeTarnEt ® FeEg w & T s o Rl

Ans

w7 b
X137 (G7)

X 2 3 20 (G20)
X s =¥ (SAARC)
W o TeT 8 (L8)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117341
94891129361
94891129362
94891129363
94891129364
Answered

4




Ans xl . ﬁ Th
X2 Rt O
v 5 USfEe gl FAR

X 4 gEea &

Q47 7 g=x BT Z RFaT (A Prime Minister to Remember) A 39010 & 5@ $i &7

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 9489117325
: 94891129298
: 94891129299
: 94891129297
: 94891129300
: Answered

1

Ans X 1..0.0009

% ofy J003x03Xp=03x003x,/q & & 2 & a7 7w Al

<209
/< 3 0.09
v 4 0.009
Question ID : 9489116746
Option 11D : 94891126981
Option 2 ID : 94891126982
Option 3 ID : 94891126983
Option 4 1D : 94891126984
Status : Answered
Chosen Option : 4
Q.49
Hag WROTT X AISE g T FiT @ E7
Ans X
1. ATSgISTe
X 2 T SEITFAES
v 2 gIEEE
X 4 TRt
Question ID : 9489117318
Option 1 1D : 94891129270
Option 2 ID : 94891129269
Option 3 1D : 94891129271
Option 4 1D : 94891129272
Status : Answered
Chosen Option : 3




QS0 zfra:b

=3:2% & (7a + 9)

: (5a + 7b) T A AT AT

Ans X119 : 39
<229 : 39
v:39:29
<429 :19
Question ID : 9489116754
Option 1 1D : 94891127014
Option 2 ID : 94891127013
Option 3 ID : 94891127016
Option 4 ID : 94891127015
Status : Answered
Chosen Option: 3
Q51 #fr a+b+c=3, a?+b +c2=6 3R i+%+§=1 ¥ sEfa, balwcz0E & abec AW 7T
Cajt |
Ans X1
1
X221
z
3
sz
2
5
a2
2
Question ID : 9489116766
Option 11D : 94891127061
Option 2 ID : 94891127062
Option 3 ID : 94891127063
Option 4 ID : 94891127064
Status : Answered
Chosen Option : 3
Q.52 gg= ufggs v TR AN F AR, ANA F T H5S AAEEE H T T=AET 9T e
2l
Ans X 1. 50%
X< 2 60%
< 3 30%
v 4 40%
Question ID : 9489117340
Option 11D : 94891129359
Option 2 ID : 94891129360
Option 3 ID : 94891129357
Option 4 ID : 94891129358
Status : Not Answered

Chosen Option :




Q53 34 _ a4

032 +0.22
Ans ?(1~ 0.5
< 20.15
<3 0.51
v 4 0.05

FT AT AT FHi=aT)

Question ID : 9489116751
Option 11D : 94891127001
Option 2 ID : 94891127002
Option 3 ID : 94891127003
Option 4 ID : 94891127004
Status : Answered
Chosen Option : 1

0¥ =l & @ frw Fo & R, 729, 3w o a Alsg A A
A 1. et

2. FoEsT Toher

3. e fimer

4 Fenrfuear

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
: 94891129253
1 94891129254
: 94891129256
: 94891129255

Status :
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

9489117314

Not Answered

Ans

X . geg 9t At

v 2 Fars faeer

K 3 TH AT

X 4 HIRG AlgFAe T

Q55 Rrpey 2020 % Wt ATHER F ITAR, T T FAR & FI-T=ANS Hie 87

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 9489117326

: 94891129301
: 94891129302
: 94891129303
: 94891129304
: Answered

2




W g e wonfat ¥ faw R Hisg 2

Ans

vi2
X2 1
X3 3
X4 4

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 9489117319

: 94891129274
: 94891129273
: 94891129275
: 94891129276
: Answered

1

Y 37 T Fia-ar &, Srwe g X F wEIfE saR R S §

Ans

v . 3R sTer (USD)

X @

& 3 oA TAT (INR)

X4.a;|'|-\r

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117317
94891129266
94891129268
94891129265
94891129267
Answered

1

Q.58 7 warit & v wag @ e 10 ¥ AR 3 Yerwi F 3w wAp F AwA 5 = O wEg ¥ w@gE

Ans

THE & AT AT T

X115
X275
v':85
X410

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116771
94891127081
94891127084
94891127083
94891127082
Answered

3




Q.59 #m wuw 3k 39F a1 @ ey | 3t 1l fow e ) Fue F wew Aed g AR wE s &

Ans

AT A Tt ¥ BT 98T 2 g it saw & e v Fewst & @ w9 @, e aw syt v
s T ¥ T T 7

EoCH
1. @efr 93, B E
2 FE o T, dem @ F
3.30 g, =13 &

Ciea

. go =, 95 &

Il g o, 935 &)

Vg ar Ty | R T & ST 1 g a1 g
X 2 Faer TeFy || 9ol FaT 7
X 3 2t & Ty 9o F £
X 4 Faer Ty | Iroe FLar 2

Question ID :
Option 11D :
1 94891128316
194891128315
94891128313
: Not Answered
Chosen Option :

Option 2 ID
Option 3 ID
Option 4 ID

Status

9489117079
94891128314

Q60 STEI F FEAT G F G FA WO gAHT?

Ans

< 11972
< 21970
<3.1975
v 4 1971

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 9489117330

: 94891129319

1 94891129317

: 94891129320

: 94891129318
Status :

Chosen Option :

Answered
4




V! st @ feE fEs ganr wiaies R wr ar
s 1 3TESF 742 (Isaac Newton)

X 2 Arey 31 (Charles Darwin)

X s g AeeT (Galileo Galilei)

X 4 Hoac HTEEEA (Albert Einstein)

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

Option 41D :
Status :
Chosen Option :

9489117322

1 94891129286
1 94891129288
1 94891129285
94891129287
Answered

1

Q.62 s ¥ 5l s & wat=w wifefeos §FAE - Aede [EeR 2018 § WFATS foar wmar?

Ans o1 sifEams Oy
X2 areafy T
XK 3 3UAY TS
/< 4. O qTHT=AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489117327
94891129305
94891129306
94891129307
94891129308
Answered

1

@3 4, 6 3R x F FYAR FATEA (LCM ) FE g T ¢

Ans X124
v 218
<3 60
<4 36

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489116752
94891127005
94891127007
94891127008
94891127006
Answered

2




Frism

Ans X131 o

v 2315 a1
< 3 325 AT
< 4 315 AT

Q.64 129 =¥ @rURT =TS A & W 21,500 N OATEE AT HST A F T I3TTH o A

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 9489116756

: 94891127021
: 94891127022
: 94891127024
: 94891127023
: Answered

2

Ans

08 St # O FT a1 FT $ 3ER A9 7 e a8
# 1. FEAr (Pharynx)

« 2 eargaelr (Trachea)

< 3. HemerT (Rectum)

X 4 ImEAer (Oesophagus)

Question ID : 9489117316
Option 1 1D : 94891129261
Option 2 ID : 94891129264
Option 3 1D : 94891129262
Option 4 1D : 94891129263
Status : Answered
Chosen Option : 3
Q.66 =, g, TH, Fifder st oo o TRET ¥ T Tdiedl f FATS -3t ¥ T HT oars, Sae
& HEEX ¥ 3% & A Fr wns, v A ffoe & aew @ AU ), Wg 9 # e ¥ At
e &1 Rfawr & TS, u= F de & 30w T U aew o aE § 3 & e o i 27
Ans x 1. IMH
X2 st
Vo TEr
<4 Refaer
Question ID : 9489117101
Option 1 ID : 94891128403
Option 2 ID : 94891128402
Option 3 ID : 94891128401
Option 4 ID : 94891128404
Status : Answered
Chosen Option : 3




Q.67

mmwﬁaﬁwwm mm%sﬂ?mﬁﬁwm#aﬁmw AT 92T 7
u%ztsv{rcsaﬁfrsﬁm%?r%‘ Fﬁmﬁﬁﬁﬂﬁ‘{%’%‘?

Ans X 1. 380
< 2 330
< 3 340
v 4 360
Question ID : 9489116753
Option 11D : 94891127012
Option 2 ID : 94891127009
Option 3 ID : 94891127010
Option 4 1D : 94891127011
Status : Answered
Chosen Option : 4
Q.68
I cos 42° = p &, & tan 48° T AT AT =TI
Ans
1 e
QIR
P
v £
2.
1—p?
p+1
3.
1—pt
2
p
X4
1—p?
Question ID : 9489116773
Option 11D : 94891127089
Option 2 ID : 94891127090
Option 3 1D : 94891127091
Option 4 1D : 94891127092
Status : Answered
Chosen Option : 2




Q.69 &z wer = F g -19 Yol F BT ¥ Al WRTY 7 srcuer g e ¥

Ans ’
v NI Ty AT
K 2 9y T
X 3 TST FAR
X 4 #fET g
Question ID : 9489117304
Option 1 ID : 94891129215
Option 2 ID : 94891129213
Option 3 ID : 94891129216
Option 4 ID : 94891129214
Status : Not Answered
Chosen Option : —
Q70 3 3 g1 2E
=,—,—, 3T = T AggA WANEa® (HCF) |a Hifaw)
2°8 16 10
Ans ) 3
v
80
1
K2 —
40
2
X3 —
81
80
N i
3

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 9489116749

: 94891126993

: 94891126995

: 94891126994

: 94891126996
Status :

Chosen Option :

Answered
1




A7 ey o av 3w # WeAaTEw R (?) F T U HlF ET BN HCM?

J
D|F
G|A|B
DIA|? |B
Ans x 1. A
v
<3D
XaF
Question ID : 9489117100
Option 1 ID : 94891128399
Option 2 ID : 94891128400
Option 3 ID : 94891128397
Option 4 1D : 94891128398
Status : Answered
Chosen Option : 2
Q72 Greifeg & & #i7 @1 M@, 7=9, e, o9 F T F TIY F FIlEA &7 F aftar 2
Ans
Ko
v &)
x 3. @ O
X 4 : O
Question ID : 9489117096
Option 1 1D : 94891128383
Option 2 ID : 94891128384
Option 3 ID : 94891128381
Option 4 1D : 94891128382
Status : Not Answered
Chosen Option : —




Q78 3y st e velr weh WAt & T @ AT W AR, S 4 ¥ e R

Ans 1. 78300
< 2 78324
< 3 78220
v 4 78320
Question ID : 9489116747
Option 1 1D : 94891126988
Option 2 ID : 94891126986
Option 3 ID : 94891126987
Option 4 ID : 94891126985
Status : Answered
Chosen Option : 2
Q74 Ewaw s & O Renfadt § wufds w1t F e = A Ferlr & Ty
oo @ AT i frar g
ans XK1 345
< 2 300
v 2 450
< 4 475
Question ID : 9489117336
Option 11D : 94891129343
Option 2 ID : 94891129342
Option 3 ID : 94891129344
Option 4 ID : 94891129341
Status : Not Answered
Chosen Option : —
Q.75 @ dwmsit 1 #geaH FAMEEF (HCF), 30 3R weaa FAmaed (LCM), 2310 §1 afs et wamat &
¥ v 210 &, T gEY TEAT A HA0l
Ans 1. 550
X 2 440
v 3 330
< 4 220
Question ID : 9489116745
Option 11D : 94891126980
Option 2 ID : 94891126979
Option 3 ID : 94891126978
Option 4 ID : 94891126977
Status : Answered

Chosen Option : 3




Q76 3 o & w1 gans S o Ryl g o #

T @ F FH Fow W I W e wod | Fa @ aJepla gefe?

s X
vo.n
<3 A
X4 @
Question ID : 9489117102
Option 1 1D : 94891128406
Option 2 ID : 94891128407
Option 3 ID : 94891128408
Option 4 ID : 94891128405
Status : Answered
Chosen Option : 2
7 o @ T TR
SH T Hea:-JraEr e &7
Ans
X 1. HfgeFR (Adrenal)
V2 & At (Salivary)
X 3. AfFTer (Pineal)
X 4 UTIES (Thyroid)
Question ID : 9489117320
Option 1 ID : 94891129278
Option 2 ID : 94891129280
Option 3 ID : 94891129279
Option 4 1D : 94891129277
Status : Not Answered

Chosen Option : —




Q78 Fr=fafs wuE # comeEs @ 3R 597 % v & dov & F9 @ feew w@ R
FY:
1.7l o e &, et &1 T fig, Few e &
2. e o e &, SFemeat @ T Ry, sy g B
3. el off Pinge &, ariafte F0f TEERESE F FIE g, s 7 A 2

Ans d
v FaT 1, 2, 3l 3 T T 2
X 2 Faer wUT 1 TE B
X 3. Faer wUT 2 TET B
X 4 Faer wUT 3 TET B
Question ID : 9489116770
Option 1 1D : 94891127080
Option 2 ID : 94891127077
Option 3 ID : 94891127078
Option 4 ID : 94891127079
Status : Answered
Chosen Option : 1
Q.79 25 adw 1945 =, ot F WERT 7 BT W F UF TERAEA AT R AT I
T F AGET AR FEA g
As X125
< 2 60
X3 45
v 4 50
Question ID : 9489117338
Option 1 ID : 94891129352
Option 2 ID : 94891129351
Option 3 ID : 94891129350
Option 4 ID : 94891129349
Status : Not Answered
Chosen Option : =




Q80 =3 ¥ farm R 1 oHE & Wl wiors & WTT &1 ST AW F 9 H FaAIT F4T 272

Ans

<116 FE8T
X2 11 feEsT
V'3 7 femst

K 415 3yTET
Question ID : 9489117307
Option 1 ID : 94891129227
Option 2 ID : 94891129226
Option 3 ID : 94891129225
Option 4 1D : 94891129228
Status : Not Answered
Chosen Option : —
Q.81 sy wzaE TF WA HEAT §, S Fdie v staedl qur SHEN gaNT 39E S o - Ag Reee
FUA &7
Ans . 5
K1 g FEET JT Ag®
X 2 gIER Jeals] A5 9o
V' 3 AGICAT JmeiT
X 4 g 9HIE
Question ID : 9489117331
Option 11D : 94891129321
Option 2 ID : 94891129324
Option 3 ID : 94891129322
Option 4 ID : 94891129323
Status : Not Answered
Chosen Option : —
.82
082 afr x*+y3=36 M x+y=6 ¥ ar 1+1 ¥ A 7 BT
x ¥y
A X1 6
y i
vz
5
1
K3z
3
h
p
b
Question ID : 9489116765
Option 1 ID : 94891127059
Option 2 ID : 94891127060
Option 3 ID : 94891127057
Option 4 1D : 94891127058
Status : Answered
Chosen Option: 3




Q.83 aftew v ¥EfFwhe g &, S go @ I W

¥ wry #EHT v Reee & @y

HTT 98 9T
Ans { 1 ﬂ
X 2. grEEse
X 3. FATSerste
X 4 BIERRE
Question ID : 9489117315
Option 11D : 94891129257
Option 2 ID : 94891129259
Option 3 ID : 94891129258
Option 4 1D : 94891129260
Status : Answered
Chosen Option : 1
Q.84

afg x =

5

f r @i Tredi—x o ow 99 fm

Ans
. E
2
X22+43
X3 2-43
v 43
Question ID : 9489116750
Option 11D : 94891126997
Option 2 ID : 94891126999
Option 3 ID : 94891127000
Option 4 ID : 94891126998
Status : Not Answered
Chosen Option : —
Q.85 2019 # ==% =T (World Universiade) & 707 was Siide S ITo Tgelr ol #fyam #ia §7
Ans x 1 a a U
X 2. grEaT Jgare
V3 gdr =g
X 4 e e
Question ID : 9489117329
Option 11D : 94891129314
Option 2 ID : 94891129316
Option 3 ID : 94891129315
Option 4 ID : 94891129313
Status : Not Answered

Chosen Option :




Q86 Ay & ¥ arfemT ¥ 2t o P 3t Q ¥ R Rwat ¥ sroarE seie o ¥

Subject Student | Maximum | Student | Maximum

P Marks Q Marks
Physics 50 100 65 100
Chemistry | 85 100 90 100
Biology 55 100 50 100
Hindi 40 50 45 50

S P 3R Q F Fo gfaerd 7 aemsrer fhaar 3w 82

s of 1 6%
X2 10%
X3 7%
X 9%

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 9489117089

1 94891128354
: 94891128353
: 94891128356
: 94891128355
: Answered
Chosen Option :

1

Q.87 Trw=ifra aTw T AET ST AT & F A= TS ATEHT HT G F AT | A F ITAA HE

A 99 BT 71T o 1 3e &

Monthly Sales of Bikes

WSeries1

h
il
v
13
e

Mars

January
February

ferfofem & & #la & mdA & FofFas dk | & B6h, Ol w0 &7 28 & 3o Refr &

&2

SR
X 2 A3, ST AT Fo1S
X 3. A TS
X4 Faal, 7 Ak stk

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117090
94891128357
94891128359
94891128358
94891128360
Answered

4




Q.88 iy & a1 AT 1 CHATEF HeTT HE AR g9 FOIe 3
Tut & g Fuar A gEnT e T s (Rfeme § )

Ttems of Years
pend 2012 | 2013 | 2014 | 2013

Salary 145 | 115 | 200 | 235

Transport 48 60 71 82

Intereston | 23 18 14 13

loans

Taxes 4 35 2 65

T4 2014 F F R v 10 77 AR @l 96 F SN TR W FC 0 Fo AT F A FAT:

g fifsTl
Ans X111 : 1335
<21:1355
vs31:1305
<41:1315
Question ID : 9489117091
Option 1 1D : 94891128364
Option 2 ID : 94891128363
Option 3 ID : 94891128362
Option 4 ID : 94891128361
Status : Answered
Chosen Option : 3
Q.89 = T arw = A, e e & feor 7 gu s @ afeera-faeor gefer @ g e w7
eI w3 A BT 9w wea F7 3ew &
E-I Direct
3| muerin
M::::‘;ml Direct Labour
3 2800
8
H
Tfe 10,000 el e w FET fFar ar § dk 39 W A Tl aiEes e 236,000 §, & e
i e @ ke Fpw Baer @ e Wi, A R # 50% AT 9 @ T2
Ans  of 1. 360
< 2 340
<3 375
< 4 350
Question ID : 9489117092
Option 11D : 94891128367
Option 2 ID : 94891128365
Option 3 ID : 94891128366
Option 4 ID : 94891128368
Status : Answered
Chosen Option: 1




A0 37 RmeT =1 999 FT, S B RE T 3T Rt ¥ BT E

Ans «111;"
X 2 g
X 3 s
X« Rrenfie

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117094
94891128376
94891128374
94891128375
94891128373
Answered

1

Q91 37 ReeT F T Y, B A & 7€ s@en ¥ fFw T 9 @S F e UT @ See

BAC, QRP, EDF, TUS, ___

ans X1 FGE
v 2 HGI
<3 WVX
< 4 HIG
Question ID : 9489117085
Option 1 ID : 94891128340
Option 2 ID : 94891128337
Option 3 ID : 94891128339
Option 4 ID : 94891128338
Status : Answered
Chosen Option : 2
Q92 ofy fdr e & & ‘SKIRT' # ‘MECLN' @1 =t §, & 3% %@ smer #f ‘BLOUSE’ &1 4 forar
STTe?
Ans K1 VFMOIY
< 2. VFOMIY
« 3 VFIMOY
v 4 VFIOMY
Question ID : 9489117077
Option 1 1D : 94891128305
Option 2 ID : 94891128307
Option 3 1D : 94891128306
Option 4 1D : 94891128308
Status : Answered
Chosen Option : 4




Q93 = Ru 71T Reed # ¥ Fi7 & FEAT SE W # TeATHF [HEA (?) F B W AET?

AN AN A

2
Ans X114
X223
v 26
X 4 20

Question ID : 9489117086

Option 1 1D : 94891128341
Option 2 ID : 94891128343
Option 3 1D : 94891128342
Option 4 1D : 94891128344

Not Attempted and
Marked For Review

Chosen Option : —

Status :

Q.94 afy frdhr g wreT & ‘HOTEL' &I ‘CJOZG' foram =i &, & % %e &1 & ‘HONOR' & && faram
FTE?

Ans of 1. CJIIM
X 2 CJPJU
X 3. CJKJO
X 4 CJJIN

Question ID : 9489117076
Option 11D : 94891128301
Option 2 ID : 94891128304
Option 3 ID : 94891128303
Option 4 1D : 94891128302
Status : Answered
Chosen Option : 1




Q.95 Trairg & ¥ Fi9 T 3w, 99, T AW AN Ao F 99 F T FT TIcaT T T a0 &7

Ans

w@O
nole

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489117097

94891128385
94891128386
94891128387
94891128388
Not Answered

Q96 faehr fafded e #1s 9T &, MEN # 9 3w WOMEN #r 25 far@r smer &1 58 %e amor &

Ans

CHILDREN #r %@ for@r sireem?

v 1 64
<2 36
K3 72
< 4 48
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status
Chosen Option :

9489117078
94891128311
94891128309

: 94891128312
: 94891128310
: Answered

1




Q97 afr |, J # AET K G, M # geheltar o1, L R N # osder § A M oF J & F ey

2?7
K SRR ARYERY sé-ae
X 2 frar
X 3 Fir
v g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489117080

94891128320
94891128318
94891128317
94891128319
Not Answered

Chosen Option : —

Q98 #fr amrch autmTeT ¥ et Fr Zer FW F T AT, A O F o AR 127 W AT @ g

as X1 E
<2 A
X3B
v
Question ID : 9489117084
Option 1 1D : 94891128333
Option 2 ID : 94891128334
Option 3 ID : 94891128336
Option 4 1D : 94891128335
Status : Answered
Chosen Option : 4
09 37 fBFeT F TTT F, A B RE ¥ T Pt ¥ BT
Ans XTI
v 2 T
<3 TeE
X 4 HgHCTEIE
Question ID : 9489117093
Option 1 1D : 94891128372
Option 2 ID : 94891128370
Option 3 1D : 94891128369
Option 4 1D : 94891128371
Status : Answered

Chosen Option : 2




Q100 =g fames & s #Y, for@e dal TE&aT § 98 FO g, S gEd EEar S qgel e ¥
4704 : 336 :: 2590 : ?

Ans 1180
/<2188
X 3 158
v 4 185

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489117087

94891128347
94891128348
94891128345
94891128346
Not Answered
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